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cos (7 —X)=—cos X

sin(;z— X) = sinX

A7 cos (7 +X)=—cos X

= X sin (77 +X) = —sin X

sin(—x) =—sin X

cos(—X)=cos X
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cos2a=cos’a—sin’a : tgla = 2tga cos(a—b)=cosacosh+sinasinb
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sin2a =2sinacosa sin(a—b) =sinacosh—cosasinb
cos2a=2cos’a—-1=1-2sin’a
S Toos7a sin(a+b)=sinacosb+cosasinb
sinffa=-——2% ¢ cosa=——osC tga —tgb
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cos p+cosq=2cos p+qcos P—4
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cos p—cosq=-2sin p+qsin P—4

sin p+sin g =2sin p+qcos P—4
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P+q .. P—Q

sin p—sin( = ZCOSTsm
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cosacosh = %[cos(a+ b)+cos(a- b)}

sinasinb = —%[cos(aer)—cos(a—b)]
sinacosbh :%[sin(a+b)+sin(a—b)]

cosasinb =%[sin(a+b)—sin(a—b)]
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acosx+bsinx Juexi
a=rcosa
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acosx+bsinx=rcos(x—a)
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